Stair and Platform System

"
&

®

Modular
Assembly Technology

Product Catalogue
FmBR

Stair and Platform System
TAWEERES RS

Version 4 2




x Modular

) Assembly Technology Company Information A FEE

Tl £iF mmKeE

I Profession Devotion Keep Improving
BRI FEERTIRIHAE; Made in China;
B ENE ERER; Higher quality at unbeatable price;
PR IRIETAR ; Shipped directly pre-assembled to customers;

EEROHERANIFEASHNRERE;
EERACRENTNNEF S, ELTUASNSIRES;
HNEGETROFAS RS, TE—MREAE, Try once, and you will never change!!!

What's inside...

Assembly Technology

Converting any original design to MAT design, free of charge.



®

@ Modular

Assembly Technology Company Information AFE2

| — AT TR W e {1 et e 0 k. (T eEeE D e e
o e Sl oo B B R i D e -

[l
e

OO T I e y e p

g Planning Software
FARZH

B Complete product info B EENTLER
B CAD library B CADREEE

B Quick & Easy configurator B PR (ERE

W Calculation of profile deflection B AMTHEENITE
B Drawing conversion for profiles L RNESPAY ol

B Layout Designer for fast, easy planning B AR BRR

On-time, rapid delivery
R, RIEIZ ST

Availability of all components

Pre-assembled modules, complete frames
Prompt shipping and exemplary delivery reliability
BT R

RIRILE

B B3 £ 7=




®

@ Modular

Assembly Technology Product Information /=58

The Modular Conveyor System (MCS) includes belt conveyor, roller conveyor, chain belt
conveyor, chain conveyor, pallet conveyor, rotate unit, lift unit etc. They are widely used in
car component production, pharmaceutical, electronics, tobacco, packing and other industries.
RRWIE R G EEAELHENEEN, REXEEN, MEEN, %R
MEMEEEN, REREL, ¥8., #ANF. “ROZBRATAES
BHFE. B, BF. BE. 8EF T,

Modular Assembly System (MAS) is composed of industrial aluminum profiles and
accessories. You can quickly find a solution for all tasks with the complete
specification and variety of accessories from MAT.

B T AR R T SRR p R B R4 Ak, BUMIARST S, Bt
L, ATRURIRBRRIEEMNESERER .

Machine Guard System (MGS) is designed for customers with advanced guarding need.
The special design of guarding profiles offers betters appearance and unique fastening
elements brings faster and safer connections.

HHBGIF R ERA T HEE PRI SRE KL TR . BirEe
BRI ST ARG EMEIEEN, TRAMNEEHAGTSIIRIEM
AT RER

Stair and Platform System (SPS) is commonly used for overpass bridges over machinery
and equipment. The assembly can be realized easily by simply fastening screws without

any machine work. The system is very easy and convenient to use.

T BB R E & RGER T L THRE R ZELN, THRERMNT

BT SEEReRse, FFIRREE, AEABRGH, EUEE.

T

Tubular Framing System (TFS) is a flexible modular system composed of special profile
tubes and accessories to build a diverse range of flow racks and material shuttles. TFS
is simple and quick to use, also low cost.
SBEZMARFERHSERVMMETHEERN—MIERUEE RS, AL
EEMZMAR, Ag. RYWIM[EMRIZE, HEERIE, KA.

: e




é@) Modular

Assembly Technology Product Information /=58

Modular Conveyor System Modular Assembly System Machine Guard System Stair and Platform System Tubular Framing System

IR ILHIX R G R Tl X R 5 HHRTIP R % T REGRS LERMERS

Modular Assembly System
Stair and Platform System

5 -
:
8
g
3

Machine Guard System
Tubular Framing System

Modular Conveyor System Modular Assembly System
BRUEE RS BRUTUARRGE

Stair and Platorm System
TUBPRECRYGE

Tubular Framing System
SRRERY

Modular Assembly System--- RSB R ARG T -

safe, quick, reliable Z&, RiE, AR

Use our comprehensive range

to effectively cut working hours and costs. EH AT E LRFIRA
B Short planning times | HDIETII‘EME

m Faster construction B ERIRER

m Highly flexible conversion and extension options [ = Em;ﬁ’l‘i

B Reusable components m TESFH

W Available worldwide m 2IKEE



®

@ Modular

Assembly Technology Application Samples [z Fi S2 431

1 79 7 «\
AMAARANNRR 5/

Bridge for Sorting Machine 43¥#i% & i & 4%

4

P e N . - “ -
N e | ey | /e
'ﬁ' Ax 7~ vl il W

Bridge for Sorting Machine 43##i& & it 444 Platform for Aerospace Equipment AKX i& &1




®

@ Modular

Assembly Technology Application Samples <z Fi SEf5

Bridge for Sorting Machine 43#%% i £




Modular o N
) Assembly Technology Application Samples 5z F SE45

i i

¥

aintenance Platform % & 4E 154




®

@ Modular

Assembly Technology Application Samples [z Fi S2 431

Arched Stairs for Aerospace Equipment fifi K i% & iz




5
&

®

Modular

A Aluminum Tube A&

Aluminum tube ®40mm for column of handrail
and guardrail.

REERAOmM, AT HRFRIPEN .
Page-10

- T A
B Step Profile B%#E44

For step Ladder or to build the platform with profile

put in parallel.

RTHEEESHER, BRSNS EY
TITREMBREERRTHES. Page-11

Assembly Technology Technical Data FHAR{FE
A B c E

|
T
4
.

s

l

|
|-

W/

— |
C Strut profile HEZEEY 47

For frame and support of step and platform.
BTHELHRASFEERRE.

Page 12

D Tube Connector E&1E4

To build the handrail and guardrail. Various
connection for different demands.
EERGRATRFRIPEEE, SHhE
R UHERE PR EFRK.

Page 13-21

%




®

(R A
Modular
ég) Technical Data #AR{EE

Assembly Technology

' G Side Base 3513 F&

For fixation of handrail and guardrail.

RATHRFRIFERIEE -

E Stair Joint B34 fAiEREY

For connection between step unit and platform unit.

RTHELETSFE R THER.

'é

Page 22
—ui

_ /Y]
I H Angle Plate Fa%EHE4R

For the connection between side base and frame
profile at the 90° corner of the platform.

. BT ¥R AN EESIEZR R
HYREHRIERE .

F Clamp iR

For connection between step profiles and
connection between step profile and frame profile.
TS5 2 (8] K% B S B SHEZR I
Z [BIH9ERE .
Page 24

Page 25




x Modular
&y

Assembly Technology

Technical Data ¥ AR{EE

Stair and Platform System (SPS)
TS REG RS

The SPS is suitable for many indoor and outdoor applications from the simplest railings to complicated stairs and working platforms without any extra

machining. Connection is realized effortlessly by simply tightening clamping screw.

TS RESRGATHERIFEEOBRE. 42, SUFFE
ZRGERSEIREE, EXMA, ENEE.

Safety Requirement of Stair and Platform
BHFAREER

e Depth of step t not less than 80mm.
a_J/ékJ"'thTlJ\:JZSOme

e \Vertical distance between steps h not more than 250mm.
B EERN A K F250mm.

e The distance between steps in the same section should %_,L
be the same. The distance between the first step and %
the ground level can be max. 15% less than the
distance between other steps.
EE—#RER b, BAiRIEBE R R — 3L, aniedh
FEME—RER BT R —SER
BT, BB A LUK 15%.

. RGEEMBEMIER. (Ele. BE. KFEEFER,

max. 1500

@ The net width of the step should be not less than
600mm. The standard width is 800mm. The width
should be increased to 1000mm where people ; %
come across on the step. _:1 S
% T R/ AR TF600mm FRER E A
800mm, L #4%  AEIRTRZ B, FRE

900min

max. 500

L

min. 1100

Ay 1 0%l 1000mm.

e The increasing height of each stair section should
be not more than 3000mm.
B—HBEE Y EFH S B A AT 812 3000mm.

® ais for the angle of the stair. The standard angle is
as 30°, 45° and 60°.
a AR AE, fRERE SR /307, 45°,60°.

Safety Requirement of Guardrail

PENZEER

® The guardrail is required where the platform height is more than
500mm or the platform passes the dangerous area.

YT amEREs00mmsk Zilid il XiEr, FREFE.

max. 1500

___min. 75min~max.120

® The guardrail is required on at least one side of the step. L

BLE2L—MEEREFE.
e The distance between two posts can't be more than 1500mm.
FAZ AN LA 2 B R K 18] BE A AT B 1500mm.

max. 500

® The vertical distance of two guardrail can’t be more than 500mm Bk
and the total height of the guardrail can't be less than 1100mm.
BRIPIZZ (8 & A8 BB A 500mm,
I ESE N SEF1100mm.

® The guardrail interruption, if any, is better to be 75~120mm.

min. 100

max. 500

HERPEREEIERT, PR E R R F R AE

min. 1100

\*

75mmZE 120mmZ ).

e The kick plate is optional to be installed at both sides of platform
to avoid the falling of goods.

ARG NFBHEEE, AT & MR ZBMR.

= i
174

N




®

@ Modular

Assembly Technology Products Index =z 5|

Products Index
FmEI|

Technical Data Aluminum Profile Tube Connector

j:i?ﬁFE.‘% T ] Page 01-08 ﬁn:lﬁﬂﬁ T ] Page 09-12 %;‘L!E?§1¢ ] Page 13-21
Accessories
M R R I ] Page 22-33
Aluminum Tube ®40x3 Stair Protection Profile Footrail Profile 40x120 Step Profile 40x100 Step Profile 40x150
1B 040x3 BRI B BB BB RIAR B BRI 40x100 BRI 40x150
& 40x120
Page 10 Page 10 Page 10 Page 11 Page 11
Step Profile 40x250 Strut Profile PG40 ' // Strut profile PG40 V Connector L Connector
TR 40x250 40x120 8 slots | | 40x160 10 slots \ZiZ: 20 L sk
EREZR R 4027 W | EAEREM 0RT) ?
40x120 848 40x160 1048 |
Page 11 Page 12 Page 12 Page 14 Page 14
Angle Connector T Connector 45°L Connector (Left) 45°L Connector (Right) 45°Y Connector (Left) ’ T
Rk T RSk 45°L Sk (%) A/ r. 45°L FedESk (4) A/ r. 45°Y otk () !
Page 15 Page 15 Page 16 Page 16 Page 17
45°Y Connector (Right) 7 90°L Connector 135°L Connector v 45°T Connector (Left) P 1 45°T Connector (Right) !
45°Y HEK (A) i 90°L sk * 135°L figdesk = 45°T Fedgsk (%) 45°T fedEsk (£) r_
Page 17 Page 18 Page 18 Page 19 Page 19
X Connector / 90°T Connector Cross Connector i J - l Stair Joint / 4 Tread
X fesesk 90°T FEHESk , +FEREK e i 3 B R BEEHR
i 1
Page 20 Page 20 Page 21 Page 22 Page 23
Clamp Angle Plate-40x120 Angle Plate-40x160 Round Base | T Base
KR FEEHEIR-40x120 FEEIRIR-40x160 (B 3 R T RSB
Page 24 Page 25 Page 25 Page 26 Page 26
Side Base - A Guardrail Hinge Lock Adapter Panel Block Base Plate
it 37 B PEAT I IEE R I FRARER (Gl
1
Page 27 Page 28 Page 28 Page 30
Pivot Foot Base Angle Castor-Heavy Duty Hand Drive Support
SR R R Ex39 FEXE ;
Page 31 Page 32 Page 33 Page 33




5
&

®

Modular
Assembly Technology

Technical Data HEAREE

Step Unit #5258 7T

/7 |
J

/

=

Composition of Step Unit

Side frame: PG40 40x120mm and 40x160mm strut profile with standard slots. It matches with all
MAS accessories to realize the industrial requirement of max. modulization and flexible assembly
Step tread: Step profile with anti-skid lines, which avoid the potential skid due to the step. The step
protection profile will be added at the inner front side of the step according to different safety
requirements, which improves the safety level of the step and platform.

The stair angles are divided into 30°, 45° and 60° according to spacing and ease or difficulty of
climbing requirement. The width of step and the max. height of each section of stair differ as well.
See Page 23 for detail.

i p bl N

MBAESS : KA SARERE O/RI4075140x120mmFR40x160mmEE BLAE, RIFRAEMASHE S
FRBECH, USSIMSARRUS REH KR ALK,

BSHR: RAFERRSOLTHEWESRIMAR, REHBSUITAMFHRIRIE
ASURRINRIE . BESHRETS, TRBEREFTRIGMITETT EROBRISIREM, #
—SiREELETNRE M.

RIB=EZR MRS IZE, BPRITAISA30°, 45°, FEC°=MABE. TE
REMNNOBEEEMSRTAMEHNRASESTHEE. ¥MPage 23.



®

@ Modular

Assembly Technology Technical Data FAR{FE

Product introduction FZSa4r42

Angle 30° 3 FE30°

Minimum effort required for 30° stair. The stair allows the user to climb the stair

without too much force, which is suitable for the area where people transfer the
material or use the stair frequently.

Advantage: Minimum effort

Disadvantage: High cost, low space use rate, enough space is required for installation.
%P30°BERE NNAE, AP T LaS R AT U ERICHES, ERT
TR ST 2 1 R B R .

fim: BEEN.

BRe: fAS. EEFARRK FEGEBNZEAEHEENRERS

Angle 45° Fa[E45°

The 45° stair requires low cost but with good performance and high space use rate.
The equal angle makes beautiful industrial facility. The quantity of the step is
suggested to be max. 18pcs to realize the best height.

Advantage: Beautiful, high performance, suitable for most of area

Disadvantage: Not the most economic, climb with difficulty

B4 R REMMILNAE, RARK. FIAZEERRS. STENNA
FETASHEE ERIEHEEN, BUESHRZ A8, AULEIRESE
i E£Y, ZEMES, BEAZHIAE.

B ARIEEZFT. BIRREN,

Angle 60° £ F£60°

The 60° stair realizes the optimum space use rate. It is a good solution when the
installation space is limited or the stair isn't used frequently.

Advantage: Low cost, high space use rate, suitable to be maintenance stair
Disadvantage: Climb with difficulty

BP0 R EEBFARNAE, SUAZEIERENREFEREERN
1BERT, BP0 FR— I IEREBNBREE.

i RAR, ZEFMARS, EBEMEEHEE.

R BEET.

Optimum space use rate J{E=EF AR




)
&

®

Modular
Assembly Technology

Technical Data FAR/{5 2

' Platform Unit & 85T

Composition of Platform Unit

Side frame: Same as step unit, PG40 40x120mm and 40x160mm strut profile with standard slots. It
matches with all MAS accessories to build the platform in any dimensions.

Platform plane: 100mm and 150mm standard width step profiles. The profiles can be fixed with the
clamp to form the platform at any length and width. The anti-skid lines on the surface avoid the
potential skid due to the step. The kick plate avoids the danger of object dropping and reduces the
gap between the platform and handrail/guardrail, which increases the safety protection level for the
people work on the platform.

8 B ITHYZAR

MintEsR: SHLHBTAER, KAHREREDRI40FR5140x120mmFN40x160mmia B4,
SVASEZ I AEHERE, NMEMRBRZEERTHTE.

FEFE: F100mmA1150mmPRFHARETE R B PRI AARR . BE SR 2 815 A kiR
EE, FEZBAEERTHFE. BLSEMRERIPESANER A RBEIRE.
FAMBEMBEIRIZ T, TS ENRR, RN NFaSRFRIFEZERIEE.
AFELNREARRRESHRLRE.



®

(R A
Modular
égj Technical Data ¥ AREE

Assembly Technology

Product introduction FZSa4r42

A Loading capacity &5 14

The platform floor is composed of step profile and aluminum clamp. The step profile
is high strength aluminum which will form a compatible surface with the strut profile
and the loading capacity will obviously improved.
FETEABSEMMASERRER, BSEMRASREREEMR,
HEREMIERBMAMTETE, AKEAAHET.

Safety and reliability 7] 5214

The guardrail is structured by ®40mm aluminum tube. The design of closed frame

forms the continuous guardrail. The flat surface at the connection part of tube and

connectors avoid the potential danger to the operator.

A STAEACAOMMANIRE, AN EFERIEIHEC & B R E R AT A AR

Eﬁgﬁ%%&mﬁﬁ%ﬂ$ﬁmﬁﬁ,%kmgmﬁﬁﬁﬁkﬁﬁﬁ
JIXVBS o

Unlimited possibilities ™ & 14

The combination of the step profile and strut profile increase the possibility of
application. The system is compatible with most of MAS components which could
expand system functionality.

BN SEMBIMRTRES, FEEETY R, ARSAZH
TR RS =M, WBEEPX~mEmit, SHEETlE™
HIF K.




®

@ Modular

Assembly Technology

Aluminum Profile 884+

Selection Reference of Standard Unit

BB S%

Tube and Extruded aluminum profile as per GB5237-2008, surface satin anodized.

Standard length of delivery profiles are: 6000mm for delivery inside China, 5800mm for international shipment.
RE . BRMITIREGB5237-2008, FELIEAMAMEN, EXFH.

FOEMSHCE . ERKEK, EIMCES58K.

Aluminum Tube ®40x3
B2 040x3

an
L/

To build the guardrail, ®40mm.

The design of closed frame effectively avoid the damage to the fingers.
RERTIPENE, ERE040mm,

EFE R R &R AT AR BRI F45.

Step Protection Profile

PR IEIR B

e

Footrail Profile

To be used in the inner front side of the step ladder to increase the
safety level.

BRIEAREM T B SR EIRTR, EMEHNREM.

B BRIRE

To avoid the object falling from the platform.
BB AN B AR AR T A FEREMEERN
REMGIFLE.
Step Profile
K L 7]

B EH To build the step ladder and working platform and be fixed by
clamp to form the platform in any dimensions.
BEEMBATHEBLSBRRTIETS,

B RREE TSR EERTHES.

Strut Profile PG40

ERAEZREM 4075

To build the frame support of step and working platform.

EREREM T ER THSH R TIET GHIERIIE.

Machining Symbol
MIS

Drilling
BTl 5

Angle cutting
BURRE

e
HHH\HHHHH\IHH gl
I

I

mR L




®

E Modular

Assembly Technology

Aluminum Tube ©®40x3

AE ©40x3

40

Aluminum Profile 48&!44

34

()

&

Descriotion Moment of Moment of Moment of Moment of Mass Part No
o *EH* Inertia Inertia Resistance Resistance = TR =
FRTEIE RIS Ix(om') | 1BMEEE ly(em’) | Z5EE Wx(em®) | Z4E Wy(em?) | (kg/m) VRIS
Aluminum Tube ®40x3
fRE 040x3 6.0 6.0 3.0 3.0 1.0 SPS.AT40.03
Step Protection Profile {IZIE
BB FE R BU A4
J *
™ o |10 15
80
Descriotion Moment of Moment of Moment of Moment of Mass Part No
o *&‘* Inertia Inertia Resistance Resistance = TR =
ARTEIS 1BME4E Ix(em®) | 1BIMEZE ly(em’) | ZEE Wx(em®) | Z%E Wy(em®) |  (kg/m) WIS
Step Protection Profile
1825 A A 0.7 245 1.2 6.1 1.2 SPS.SS40.80
Footrail Profile 40x120 {TE
B2 B RAR BUAL 40120
121
120
< ﬁL .‘-
Descrintion Moment of Moment of Moment of Moment of Mass Part No
P *E,L R Inertia Inertia Resistance Resistance = TR o
e BHERE (o) | 1BHEAE Iy(om') | ZHE Wx(om') | ZEE Wy(om') | (kg/m) VRS
Footrail Profile 40x120
BA S PR BIAR AR 40x120 6.9 1224 35 204 1.85 SPS.SS40.120

piicel
174




|

"M©
Modular
\& 2 Assembly Technology Aluminum Profile $38444
Step Profile 40x100
BB 40x100
100
80
o
Descriotion Moment of Moment of Moment of Moment of Mass Part No
e *&‘* Inertia Inertia Resistance Resistance = T o
AR BB Ix(em®) | 1BIMEEE ly(em’) | ZEE Wx(em®) | Z%E Wy(em®) | (kg/m) VMLCEERSS
Stup Profile 40x100
A EIM 40x100 132 1286 6.6 257 24 | SPS.SP40.100
Step Profile 40x150
BESEIHE 40x150
150
130
&
u | | 7’
- 159 ¢
Descriotion Moment of Moment of Moment of Moment of Mass Part No
e ﬁe‘* Inertia Inertia Resistance Resistance = T p
AR BMEEE Ix(em®) | 1BIMEEE ly(em’) | ZEE Wx(em®) | Z%E Wy(em®) | (kg/m) VRS
Stup Profile 40x150
S RIMF 40x150 15.4 342 77 456 29 | SPS.SP40.150
Step Profile 40x250
B 5B 40x250
250
230
&7
L €1 "-Q
NI%
Descriotion Moment of Moment of Moment of Moment of Mass Part No
Py ;i R Inertia Inertia Resistance Resistance = TR o
i HRIESE Ix(om’) | ISR ly(cm’) | ZSEE Wx(em’) | TEE Wy(em®) | (kg/m) RE
Stup Profile 40x250
BRI 40x250 21.5 1201 107 96 45 | SPS.SP40.250
, picd
: i



®

x Modular
L Assembly Technology Aluminum Profile $58444

Strut Profile PG40 40x120 8 slots
EAHEZR B4 402 %)) 40x120 848

120 =
110 = _
80 R
> -
(P! C ) < ;
EC T C ¢ g -y -
o o T N il e [
[N R U U U
3 SR W (R b = -
5x5(M8), O12(M14) 110.2|
Descrioti Moment of Moment of Moment of Moment of Mass
escription . . . . = Part No.
= Sk Inertia \ Inertia . Resistance , Resistance . = TS
REEE Ix(om”) | IRMERE ly(em®) | ZEE Wx(em®) | Z%EE Wy(em’) | (kg/m)
Strut Profile PG40x120 8 slots
ERMEAR AR 40251 40x120 848 241 194.8 12.1 325 3.8 1.11.40.040120.08

Strut Profile PG40 40x160 10 slots
EREHEZRRIAT 402751 40x160 1048

160
150
120
4

el e

A HH

5x5(M8) D12(M14)

R

30

40

- Moment of Moment of Moment of Moment of Mass
Description ! . . . = Part No.
Sk Inertia \ Inertia \ ReS|stance3 Resistance . = TS
SRR Ix(cm”) | 1SMEEE ly(em') | ZFE Wx(em®) | Z%E Wy(em®) | (kg/m) :
Strut Profile PG40x160 10 slots
ELRMEZ R 40251 40x160 1048 31.6 435.7 15.8 54.5 4.8 1.11.40.040160.10
<5
¥e

[\
09\
s



®

@ Modular

Assembly Technology Tube Connector ‘B iE1EH

Tube Connector

EiERY

Tube Connectors use special internal locking system which connects the tubes by simply fastening screws without any extra machine work.
T B3P R E & RS R EERER A RS SR, (NBREEE X TR ESEERTNHE,
RERAFVHZEEKETCTHEMNT, EEHERE.

Tube Connectors use special internal locking

BREmANEEZSED.

Tube Connectors use special internal lockings
RIRFHEDZ, FRESEEEHER.




Tube Connector & &t

Assembly Technology

Modular

Y

5

L«

2

o

g P
s i

4 s o =Y

CS
/gm\w\b \

3 —=

=24/

G . N =

Description
PR

Description

FE iR




Tube Connector & &t

Assembly Technology

Modular

Y

5

L«




Tube Connector & &t

Assembly Technology

Modular

Y

5

L«

3

oo T
=2
m..m m et

V-

..... SN

=

N
=3 =3
» (72}
& I & I
o ©
= i = i

Description
F= ik
Description
=ik




Ly S— s —

.\ .Q\z S

S

T 2
. = ._mhm

©
o s_|-.L

S/

'l///, I

Description
=ik

Description
=ik

Tube Connector & &t

Assembly Technology

Modular

5
&




Tube Connector & &t

Assembly Technology

Modular

5
&

Part No.

TS

Description

FEandtg

Part No.

TS

Description

P andtig




Tube Connector & &t

Assembly Technology

Modular

5
&

//A\\A\N\\/«

Description
Description
=ik

FE iR




Tube Connector & &t

Assembly Technology

Modular

5
&

Description

FE iR

- — m— - —

AN

Part No.

Description

P andtig

TS




Tube Connector & &t

Assembly Technology

Modular

Y

5

=
L«

o E— 1 E——

a2

Part No
TR =

Description
=ik




®

@ Modular

Assembly Technology Accessories Bfi{4

Stair Joint
B RiEEN

For connection between 40x120mm and 40x160mm profile step frame and platform frame .
FT40x120mmFn40x160mm B4 {E A B AR R MIBAEZR AN T SHEZR Z (BB EHE .
Material: diecast aluminum polished finish surface

mE: EHEeE RELHE: A

AV romvon | [GC]_rommon | [PE] roemn
Descriptior) L g° Fastening Set Mass (g) Part No.
FEamfER (mm) ZEHHE FE(9) TS
30° Stair Joint-Type A 120 BXHM+XPE 803 | SPS.SJ40.30A.40120 {27k
30° B AR IESRIF-ARL 160 8XHM+1xPE 1135 | SPS.SJ40.30A
30° Stair Joint-Type B 120 | 0 3XHM+XPE 710 | SPS.8J40.30B.40120 {ZTk
30° B e M-BEL 160 AxHM+1XPE 1010 | SPS.SJ40.308
30° Stair Joint-Type C 120 3XHM+3XGCH+IXPE | 785 | SPS.SJ40.30C.40120 {7k
30° B A ESEM-CEL 160 AXHM+4XGCHIXPE | 1147 | SPS.SJ40.30C
45° Stair Joint-Type A 120 BXHM+1XPE 878 | SPS.SJ40.45A.40120 {ZTE
45° BE 2D F AR 160 8XHM+1xPE 1044 | SPS.SJ40.45A
45° Stair Joint-Type B 120 | e 3XHM+XPE 785 | SPS.SJ40.45B.40120 {ZTE
45° B2 fa i HEA-BEL 160 AxHM+1XPE 932 | SPS.5J40.45B
45° Stair Joint-Type C 120 3HM+3XGCHIXPE | 860 | SPS.SJ40.45C.40120 {7
45° B FiEEAF-CR 160 AXHM+4XGC+IXPE | 1068 | SPS.SJ40.45C
60° Stair Joint-Type A 120 BxHM+XPE 1005 | SPS.SJ40.60A.40120 (T
60° B2 fa i HEAF-AR 160 8xHM+1xPE 1495 | SPS.SJ40.60A
60° Stair Joint-Type B 120 | eoo 3XHMH+1XPE 912 | SPS.SJ40.60B.40120 {ZTk
60° B Ak sk t-BEL 160 AXHM+1XPE 1370 | SPS.SJ40.608
60° Stair Joint-Type C 120 3xHM+3xGC+IXPE | 1158 | SPS.SJ40.60C.40120 {7k
60° Bs 2 fa i AF-CRL 160 AXHM+4XGCH+IXPE | 1507 | SPS.SJ40.60C
<]
y T




®

@ Modular

Assembly Technology Accessories B4

Step Ladder ¢k
B SHELR

Cut from 40x100mm and 40x150mm step profiles, with anti-skid
lines and to be fixed by clamp.

BEHREEHETRAM, HHHEZLZITAI40x100mm
F040x150mmEY B S BIAH LA BK -

Material: aluminum

ME: REE

Step Ladder Angle of Ladder Strut Profile W L Mass (g) Part No.
BB R B AE MIBIEZREAE | (mm) | (mm) | EE(9) T84S
Angle 30° fRE30°
40x120 250 4727 SPS.SL250.40120
40x160 300 5188 SPS.SL300.40160
40x120 200 4183 SPS.SL200.40120
800
40x160 250 4727 SPS.SL250.40160
40x120 150 2570 SPS.SL150.40120
40x160 200 4183 SPS.SL200.40160

Note:1. Offer per set (including the clamps and fasteners).
#i1: REHRS (SRRMEEM).
2. The length could be customized according to customer's requirement (600~1000mm)
LIERT R #E % P ZE K TT 14 (600~1000mm).
ex: SPS.SL250.40160 - 1000
L=1000mm

Part No. 1JT4RS




®

@ Modular

Assembly Technology Accessories B4

Clamp
KR

For connection between step profiles to build the platform with profiles put

in parallel (Suggest to install every 300mm).

RTHRLEM B RESEM SEREM Z BRERE, SMESEMEITHE
A A EEAE R FEE N TIET & (I R &8 A300mm).

Material: aluminum

ME: BEE

Clamp Type A
IR ARY
Description Fastening Set Mass (g) Part No. HQ[  ssennase
FEERIER HEHH £(9) T RE < ffii?ai‘ﬂ'
g':t';p&f’e A 1xHQ 52 SPS.CLA0.A O
Clamp Type B/C
Jetk B/ICEY
Description Fastening Set Mass (g) Part No. PD] Fssennase HQ[  Fostrinose
FZmiER ZE B = (g) TS ooz < r::apt‘;ai?
Clamp Type B ? ’ _ xfcs;)g‘neg Washer
etk BA 1xPD+1xHQ 70 SPS.CL40.B p— @HMB Tmde
§ ? < nickel plated
Clamp Type C
Sk CH 1xPD 68.5 sps.CL40.C (T

N
=
s\




®

(R A
Modular
Lx.J Accessories Pftf4

Assembly Technology

GB ‘ Fastening Set

M8x16 Bolt
zinc plated

o) ¢ M8 Spring Washer
zinc plated
M8 Washer
S« zinc plated

. <2
nickel plated

Part No.
TR S

Description
=itk

Fastening Set

REBRM

GB ‘ Fastening Set

M8x16 Bolt
Zinc plated

M8 Spring Washer
° < plated
° . M8 Washer

zinc plated

. ' M8 T Nut
nickel plated

Part No.
TS

Description
FE itk

Fastening Set

BB




®

@ Modular

Assembly Technology Accessories B

(/"
%

s
752

)

CT ‘ Fastening Set
G
Description Fastening Set Mass (g) Part No.
PR S EA M EE(9) Pl

CT ‘ Fastening Set

< M8x20 Bolt
zinc plated

° < M8 Spring Washer
zinc plated

Description Fastening Set Mass (g) Part No.
PR HEAM EE(9) Pl




®

@ Modular

Assembly Technology

Accessories Pfif4

Description Fastening Set Mass (g) Part No.
P SRtk Z[EH M £(9) ey
Side Base-B (with top thread) 2%HQ 707 SPS.BAS.ST

M5 % FE-B (RT5i42)

C R ‘ Fastening Set

H Q ‘ Fastening Set

4 M8x30 Bolt
zinc plated

° < M8 Spring Washer
zinc plated

< M8x30 Bolt
zinc plated
< M8 Spring Washer
° zinc plated

M8 T Nut
nickel plated




®

X))
Modular
éﬂ_} Accessories Pfif4

Assembly Technology

Guardrail Hinge {77k
PRATT

Material: aluminum anodized

ME: feE FEALE: FAREK

o
84
42
GN‘ Fastening Set
(\ (\ 41 M8x50 Bolt
\/ \/ ;r;csplaledw h
%< SR
D
Description Fastening Set Mass (g) Part No.
FE A XELHH £(9) T4 S
® ?P:L‘“jg’“”ge 4xGN 458 SPS.GH40
4-085}, 7 \ ! F=5 0
N AT / N &
40141 | &

Lock Adapter

o TF

Material: 6063-T5 anodized (cutting end not anodized)
5T 6063-T5 FREALE: FRRELIIETLIE)

O
45
5
Jan)
\ = /; Ala \ EF]
Fastening Set
O W ==
@ l x‘iimz Washer
- il
O 0
Description Fastening Set Mass (g) Part No.
S PR H[ELH M 2(9) TR S
“ <
Nwo Lock Adapter
J : 4 I 2XEF 107 SPS.LA40
40
Lock (pcs)
5 (M) R B

Note:Including special nuts.

#i1: SPERIES.




®

@ Modular

Assembly Technology Accessories B4

Panel Block {27k
KAIR
The panel block is used to attach the panel with 4mm-8mm
thickness to the tube, which is with good connection strength.
FTF4mm-8mmigiiiit SR ERERE, BEREN
EREEEE.
Material and color : ABS black patterns
#ME: ABS FTMELIE: U git: BE
8
4,56,8
= T %
ST3.5x16 A 7 = ST4.8x19 :J‘i
% < Ko, M c
185 9 o
!
43 % Note:Installation figure for 4mm and
5mm panel.
. gl B B [o ) 155 A 4mm, 5mmifl R KRB E
ED -
15
o ‘ ‘o o
A a b J:
ER‘ Fastening Set ES ‘ Fastening Set ET ‘ Fastening Set EO‘ Fastening Set
Note:Installation figure for 6mm panel.
FRmiR R REE
S ?475;1;2:1122‘.‘ ?4732(:;221122‘.‘ g
Description Fastening Set Mass (g) Part No.
PRtk KEAH = (9) TR =
Panel Block
FeARER (dmm/5mm) 2XER+2xES+1XET 32 SPS.TP40.01
Panel Block
SeAF R 6mm/Bmm) 2XER+2XES+1XET+1xEQ 33 SPS.TP40.01.PS
O Note:4mm hole need to be drilled on ®40 pipe. The panel block is fixed in the pipe with self tapping screw.
FEAEOMEE LshammTL, BT BBURSTIERIRRE EERE L.
Note:The distance a between the panel block and column shall be 100mm<a<200mm. It is suggested that Note:Installation figure for 8mm panel.
0 the distance between panel blocks is 400mm to ensure the installation strength. {8t R 2ER=E
FARIR S 3L HE i8] FEaTH i B 100mm<a<200mm, FEIYFARIRZ 35[0 35 B5b A400mmEA AR R 5
SREL .

O Note:The panel block can be only used in close structure.

RARR R BEAE T A MAEIR G ER

29 a

7
/5N

()

%




®

@ Modular

Assembly Technology Accessories Bfi{4

Base Plate
[¥F b7 >z B

To support strut profile at the bottom. Expansion bolts

chocked into floor can offer a high stability.

PR R T RIM IR AR 42, 1 B RKIZE

BN T ERRESTREM.

Material and surface treatment: cast steel, black electrophoresis

ME: BN REAE: EBREX

Base Plate Gasket
10.5 A Rl Sz B ER
To adjust the degree of vertical profile and uneven ground.

PR B AT itE A A St EEEE

N\ | -
W w ‘ 32 >
Q ﬂ i B <
<> S 2
4x913
40 &
// w
/| (&)
/ - }
om
o
Bl ¢
D E
L

C ‘ Fastening Set AA ‘ Fastening Set AZ ‘ Fastening Set

0 0 ﬂ“ ollo ‘ 0
o o e
40x40 40x80 80x80

Description L A B C D E Fastening Set '\éai Part No.

= SR (mm) | (mm) | (mm) | (mm) | (mm) | (mm) S E A (g;E T4 S
Base Plate-4080 (pcs) OXAZ 1930 5.11.4080
BT = A0-4080 (28 /M1 £5) X o
Base Plate-4080 (set A) ICHIXAAKAZ | 2240 | 5.11.4080.STA
PRk 3 BA1-4080 (A E L 55A e
Bﬁlﬁﬁpl 154080 Eﬁktf; ) 126 40 20 60 40 80
ase Plate- se
— A & 1. :
I 2 B-4080 (RS 1L £B) 6xC+3xAA+2xAZ 2290 5.11.4080.STB
Base Plate-4080 (set C)
BT 32 94080 (R 1 2C) 8xC+3xAA+2xAZ 2340 5.11.4080.STC
Base Plate Gasket
— 9 5.11.01
mEE e ©




®

@ Modular

Assembly Technology Accessories Bfi{4

Pivot Foot
S RHOAS M

To support structure where gradual height adjustment is needed, the pivot foot has a
small swiveling angle to fit slightly uneven floor. The connection between the pivot base
and the spindle can be released with a tool.
ERMIAZMARIEFERAESERERSH, BANAER/), BRAT
XM E . R FFMRETAIRRS.

Material: zinc plated steel/stainless steel

MER: BRINESE/ T EHW

[
i
HH Kk
il
AU
I
e 4
I I ;:;é
®D
Description D KxL H min. H max. Max. Static Load Mass Part No.
FE ik (mm) (mm) (mm) (mm) B RBERSEN) EE() TS
60 M16x158 45 120 20000 596 5.24.60.16.160
Pivot Foot-Zinc Plate Steel M20x178 50 130 25000 796 5.24.60.20.180
& B - SN 5 %0 M16x158 45 120 20000 780 5.24.80.16.160
M20x178 50 130 25000 945 5.24.80.20.180
60 M16x158 45 120 20000 600 5.24.60.16.160.SS
Pivot Foot-Stainless Steel M20x178 50 130 25000 803 5.24.60.20.180.SS
& B RS R- A 5 % M16x158 45 120 20000 785 5.24.80.16.160.SS
M20x178 50 130 25000 950 5.24.80.20.180.SS
<%
> ol




®

@ Modular

Assembly Technology Accessories {4

Base Angle
R =2 B

To improve stability of structure supported by leveling foot.

IREMEC AR, B ENER, FEREMRERE.
Material: steel, black electrophoresis

ME: WY e EeEsik

Description Fastening Set Mass Part No. C\ Fasoning ot
iR REHHE EE(9) TGRS P
zinc plated
Base Angle-Left (pcs
B (B0 46| S81L J
Base Angle-Left (set)
RS- (REREY) 2HC+IXAA 473 | 551LST A
Base Angle-Right (pcs
*&iﬂﬂl—gﬁ (igfl\(%t‘;f) 346 551R
W

Base Angle-Right (set) I CHXAA 473 5 51RST 3
AR SR (RERE) XC+ 51RS
Base Angle-L+R (pair)
RS BI-Zo+ 78 (R AT E8) 692 5.51.P
?E%eﬁ\zﬁgyﬁfg{ ((;;)q REHE) 4xC+2xAA 946 551.P.ST

)

N
=\
s SN\




®

E Modular

Assembly Technology

Accessories Pfif4

Castor-Heavy Duty ¢k

E

For large scale and frequent move working stair and with high load capacity.

BEBRTAEFESMEBN TR, AFAETIE.

Material: wheel - PU base -

zinc plated steel

BMBR: PU JREEMBR: WRENGESE
Description Wheel Width DIRI|H Load Mass Part No.
P ERiEiA 43T (mm) T (N) | =2 (kg) 1T I8% S
1251139164 2900 2.64 SPS.CH40.125
Castor-Heavy Duty 45
E 37
<lik 150 | 1431190 | 3500 2.94 SPS.CH40.150

Hand Drive Support {77k

FHEXER

For large scale platform and movable working stair for adjustment of height and with

high load capacity.

BERTAEFESBHTIEE, ETERTASE, REERNE.

Material: zinc plated steel

ME: WHINETE

N

NN

¥ —

IR
I_i/\

D

W

W,

\

x

WA

5%
7

=)

J ‘ Fastening Set

(O g MB258ot
= i e
1 M8 Spring Washer
@ zinc plated
M8 Washer
g L2t
zinc plated

@ 1 M8 T Nut
nickel plated

Description
iR

Fastening Set

REB

Mass (kg)
= (kg)

Part No.
T RS

Hand Drive Support
FREIR

6xJ

9.35

SPS.HD40




®

Modular
Assembly Technology

)
&

Accessories Pfif4

1B P =
TP RESRZAMNE B | Al
Inquiry List of SPS w| o
Company Contact
IR BR&EA
Address Department
bich BRI
Tell Fax Email
BiE RE HRFE

Stair and platform system is mainly composed of step profiles and flexible handrails allowing a complete modular design. It is compatible with the
components from Modular Assembly Systems due to its flexibility, three pitches of 30°, 45° and 60° are available to satisfied different request.
T EPREERFETERTANBELSEMFIRFAER, AT HERLHEY, TR T AR RENREESER BF
= FhAEE30°, 45°F060° ki B R P T =B ARIFE K.

Basic technical da‘ta of platform:
B REBRGHIEARSH:

Length of platform (mm) Recommended value should be between 300-6000mm
EEKE (mm) | | HEI 1A £ 300-6000mm3E Bl Z A
Recommended value should be between 500-3000mm

Width of platform (mm)
AEE (mm) | |

FZILE{EAE500-3000mmSE Bl Z K

Usable width of step (mm) Recommended value should be between 600-1280mm
X BEEE (mm) | |Eﬁ&ﬁ&wmmmmﬁazm

Load capacity of step (kg) Recommended value should be within150kg
L5 (ko) | | EIEE150kgSE R Z A

Handrail of stair and platform:
B REBKFEN:

Stairs Stair and Platform

EEES

=

EE

Height of platform

Please email to info@moduasm.com or fax to +86 411 66316208

B&IEHEZE: sales@moduasm.com £E: 0411-66316208




yB)BX & F50/Contact US

® A &) 2 ER/Headquarters

ik TTHRETEZELEFALXEETLRX
Add.: Haiwan Industrial Area, Economic Development
Zone of Pulandian, Dalian, Liaoning Province, China
Hik4w/P.C.: 116200

3 1E/Tel: +86 (411) 66316200

f&E/Fax: +86 (411) 66316208

E, iR #6/Email: sales@moduasm.com

P11k Website: http://www.moduasm.com

[E Bl 55 &R /International Department
Fa1E/Tel: +86 (411) 81981885

+86 (411) 66316207
fEE/Fax: +86 (411) 81981995
EE, iR #6/Email: info@moduasm.com
P11k Website: www.moduasm.com

® 73 4322 B)/Suzhou Branch

otk ST AR AN TH 7 I B8 1588 S A Mt R B 5L RER1904F
Add.: R1904, East building of Suzhou World Trade Center, No.1588, Suzhan
Road, Suzhou, Jiangsu Province, China

iR 4 /P.C.: 215000

8 F BB F8/Email: sales.sz@moduasm.com

P 11E/Website: www.moduasm.com

1)1l 1 EE Ak /Shenzhen Office

bk AR T EEMXRAEREKEREXE—RI0E
Add.: Room 101, 1st Floor, Minde Building, No. 2 Minde Road, Minzhi Street,
Longhua New District, Shenzhen, Guangdong Province, China

HR4R/P.C.: 518131

2 TR #6/Email: sales.shenzhen@moduasm.com

11t/ Website: www.moduasm.com

ég} Modular

Assembly Technology

Modular Assembly Technology Co., Ltd.
K R TR ARG IR A

O We reserve the right to update our product specifications and improve the
production process without any notice and obligations, please refer to the
our latest catalogues from our website or contact us at info@moduasm.com.
AARREXN A~ RRARSE L =T ZHREHRINF,

EETE, RNBTEL, BIHAREERMHEEHN
ERLE, RTATEA, RANAERREE R hitp://www moduasm.com

e
O
O
>~
V)
S
O
=
O
0
O
-
O
.=
O
-l
V)




